SnAMTEYE (1 -2 3H)

1A HER - B LIRE 2R HER - B LIRE 3A HER - 4 LHRE
11K & JcH E(A S SHA#MRREA| B FER
& N
PIENES % = A FERIFE
I EAES g A S S HAEFMRREREIRA K| B
4|+ x| B x| B
5|8 K| B|| 3% *|B
B8
AEIES tya-yi1b-vay| k| B| | & #|B
£
APAES tva-y3ab-v3v| & B Jﬁﬂﬁ 2 Fghimt = +—|+
=]
8|k 8 B SR
BRT A D (Ei) G | A 4oz
9|*|8 brriao| B BIA| 2RIBE - 2BEH
10[¢ B Al A ) BEER HEFE
1+ K| A EEZ=0AH % BAH BEZE
12|88 k| A K| A
13[A| A BMADAR KA Ak &/ A 1. 2R A HR
14| | A £/ A EHERER|E &) 2&EN\HiER
157k | A AR + HARFRE I+ —F A A
16| A&| A A A LXK
17|12 A Al B X ERREE 7N
18|+ 1. 2RSS k| B x LoX
o2 —HER
19| 8 K| B PN EHREERA
20| B|B o8 —BBEAB|AK| B |Z&EHTE (505 X 5E) & EHnH
211 k| B im0 %| B *
22|7x| B * B
23[ K| B =] BHEH A E4 BHEEL
%8B 1EHEREERR BlA R X RiElR BT
BER
s
25+ #) 2&BRa2E| K| A P x
X
26| 8 K| A #= PN
& <3
2718 A x| A % s
28l el A FEN S| A| 1 mEE EXRF + ES
x® iR s HEERSE 2N
2917k| A + B *
30[k| A )=
314 A pY
TEBIRA B 5 AREEHKS
i




